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£ g g - BKTE BfT B 2 i & £ m =

EEHEE 2,715, 540
BIE%HE 2,715, 540
TILFE—LBIE 2,715, 540
TILF E—LBIE 2,596, 708
B2 458, 255
1 BlE%E 1.00 345,016 345,016

=
2 HBMIERR 2EERRY) 1.00 113, 239 113, 239

=
KiRA= 821,108
SBETRE 1.00 674,179 674,179

=
4 TILFE—LBIZE 0.27 544,182 146, 929
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BE 1,188, 345
5 MEEMER 1.00 1,188, 345 1,188, 345

=
EERE 129, 000
6 EaTimE 1.00 78, 150 78,150
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1 BRHE 1.00 50, 850 50, 850
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EEREE 118, 832
W& 6, 832
8 & 1.00 6, 832 6, 832
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AR 67,000
9 RBARR 1.00 67, 000 67, 000
%
ZDfth 45,000
10 EIAEE EZAYUIREILRE 1.00 45, 000 45, 000
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EEAEE 2,715,540
HEHE 2,715,540 x 76.1% — 2,065 2,064, 460
MEFER 2,715,540 + 2,064, 460 4,780, 000
RIEEHME 4,780, 000
HETREALE 4,780,000 x 10.00% 478, 000
BEXHE 4,780,000 + 478,000 5, 258, 000
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% R - BIRTE =-Fivd = B {f ) i E s &
B2 E A
A 2.00 54, 600. 00 109, 200
2 FRE
A 3.00 47, 100. 00 141, 300
B S B Eh#H
A 2.00 36, 900. 00 73, 800
AEHF
A 0.50 34, 600. 00 17,300
MAE 2ENY
% 1.00 341, 600. 00 3,416
& YEZHEEH - 1.00=¢ 345, 016. 00 345,016
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% R - BIRTE =-Fiva = B {f ) i E s &
AIEHEE
A 2.00 25, 900. 00 51, 800
AN 2t¥E
=i 2.00 30, 159. 00 60, 318|4. 70H / 8H
MAE 2&E0Y
% 1.00 112, 118.00 1,121
& YEZHEEH - 1.00=¢ 113, 239. 00 113,239
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£ 5 L - BIRTiE BAf = B %5 = & &
REE S4 kY 2L
B 1.00 3, 560. 00 3,560/2.00H / 8H
B2 FEHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
B
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 83, 104. 00 83, 104 8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 1.00 667, 504. 00 6,675
& B 1E%HeH - 1.00K 674,179.00 674,179
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2 b g - BIRTE By = BHO(f %8 W = " =
REE S4 kY 2L
B 1.00 3, 560. 00 3,560/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 83, 104. 00 83, 104 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILFE—LBERZEE 36~455kHz
B 1.00 339, 900. 00 339, 900
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% 2.00 608, 204. 00 12,164
& B EEREN 1. 14km2 544,182. 00 620, 368
&5 :5
25 MESERK 1LY
2 b g - BIRTE By = BHoO(f %8 W E " =
BIEFEHEM
A 4.20 54, 600. 00 229,320
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IS EHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 0.50 47,100. 00 23, 550
& Hi 1YEZHEH - 1.00[E 78, 150. 00 78, 150
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£ b L - IRTiE BAf = fili %5 # & &
IS EHER
A 0.50 54, 600. 00 217,300
RIS HRER
A 0.50 47,100. 00 23, 550
& Hi 1YEZHER - 1.00[E 50, 850. 00 50, 850
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£ b L - BIRTiE BAf = fili %5 # ik &
i3 HEE (GES)
= 1.00 6, 832. 00 6, 832
& B 1E%HeH - 1.00K 6, 832. 00 6, 832
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£ b L - BIRTiE BAf = fili %5 # & &
EBEHRME
= 1.00 67, 000. 00 67,000
& Hi 1E%HeH - 1.00K 67, 000. 00 67,000




Rifiz -/ \v7r—o

SMEEEEZAREAE
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&% BIFAEE E-4YVUIREBILE
£ 5 L - BIRTiE BAf H = L= i & % = i
EIREE E-RYUTHAEITIRE
= 1.00 45, 000. 00 45, 000
& Hi 1YE%HeRH 1,00 45, 000. 00 45, 000




